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Multiply by 4

Multiply by 4

4a. Eliot has eight bunches of bananas.

Each bunch has four bananas.

How many are there altogether?
Provet.

g

4b. Georgia has twelve packs of
strawberries.

Each pack has four strawberries.

How many are there altogether?
Prove it
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5a. Use the number cards fo make the
statement correct.

5b. Use the number cards fo make the
statement correct.

4 x =16 +

28 + =4 x
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0. Match each description fo the correct
number.

8b. Match each description fo the correct
number.
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